'@:ﬂuiv-—aa)wm-our

TH2FE BRFRFERE(EVVLBR-ER
IIEE%EL __________________________________________________________________________

IDERERSNEBRER (RILIVERDEVI—RU=ZBEDEARILILEVE—) 1T, ANIERETCEAL-O., BEREELTERLTEYET.
: AIERRL., HBETLBSETHY ., ChEHFH LVENFIBSEDRMULET LD TIEHYE A,

IQEM24F10A1B DD, AIRBRORRAZEZEETRENSHRE FTRMEGIUE#BZIO%RE—IFO FTRME. RE, AERBICEXYESLET.) ELTHBYET ., Z00, BEICEk--TRE
I'FBEE#‘E&%%%:&%U&& BETERMERSE (10T )L/kg, 15920 )L /kg. 20891 JL/kg) DIBE . T10kFEIN15KFIN20R B I OWVTFhhERRLET,

}ﬂ'lE%*%(iﬂlT'C'Eﬁ BRI BED . RABRHROFOERICEHNLET,
I@#ﬁﬁ-ﬁ%(-ﬁ)éﬁﬁi(is FIBANBRHEETI-HORGETT . BERVEZLHFLTVIREDR, ROEAVVI/RAETEHEINTSY ., EEEEELZRZAHLONRE - BFTETh

B LiEBYEE A

e e e e e e e e e e e e e e
No.| E¥% |BeR]| {BE [sewsa] X INo.| EY% [BE@R| BEE [seenn] X [N | EHH [BEwR] BE |wesna] X INo. | EHE | REEE] BE |wesss] HX
31T Do | 20k im S [391] e 20K i e [471|F25 44| 20K 5 hZE [551]7= 17D C | 20K EE
312[F-1F D [ 20% & =% [392 y 20K & =& [472|=5 S fF I552[f-1TDZ |20k thE
M3[F5D3F [ 20K =M [393[f-= | 221 EFRE =% |43 D 35 58108 =% [553|f-oM 3 60 G
314 boU 20K RAE (39458 20K i RE (474 Ho U 20K % hif [554[Hh oW 20K i R4
315l <4 | 20%E thiff I395[5.F 20K fil [475| b5 57 =% [555/f-(FDC 29 hE
316|HK 20K i sA1E thiEh |396|ZEE4F | 20k 5560 h3E [476|HoU 37 RE I556|a£501=14] 20k ES
37|E=5mF [ 20%iE =T [397|Hh oW 20K il [477|hoU 39 EMW I557[[F5NhAE| 20K hE
318[7+ 20K EIARR)398[FE = 20K =& 478|117 | 20KiH ZEH [558|=1FTDC 26 58168 =
319|7% 20K i b3 I399[ZEEHLFE | 20k chif J479(HE 580 EiL 1559|IZAI=< [ 20%FH ES
320[7=1F D | 20%F IR J400|ERE | 20k i [480]Ho U =T oo eSS hE
21[Hhsv 20K iR J401|<E-63% [ 20k i [481]F-5DF 379 =T Ise1[/viaz | 20k ch BB
322| 2 # 20K i b3 J402[-5DF | 20K hE [482|FHF 20K 55 3 [562|7=(TDZ | 20FK chif
323|117 | 20K =T [403][HoV 20K i ZM/ J483[=5 20K 55 i §563|F=TDZ | 20K AR
324|CC & 35 RA 404l ho Uk 25 RE 484+ 20K H SANB| hif Is64|7-17DZ [20%kE RA
325|9F 20K RA J405|+=1TDC 64 =M/ J485f-1FDC 22 gl §565|7=(F D | 20K =
326|bn0  | 20K El AREEREE 539 EFnd EM |486[50XALS | 20K 5 hE [566|f-[TD— | 20k RA
21-o0% IR GEE | BAR[407[ 21T D | 20K =& [487[>Fx%  [20%& =% 567122775 IR 55 =& |
328|f=1+DZ | 20K ZEH J408[H5V h=E [488|7x/555 x| 20F%F i |568|kEF 20K EX
329|154 92 RE J409|HE hE [489[5F 20K% AR R]569|pkrg 20K RE
330|f=1FDZ | 205k ZEH [410[5.F *x i fa90[r=—L 52| 20%kiF HARI570 |[+xwarann | 205 a=iL
331K 20K RAE J411lE=1r0Z [20% ,}:ﬁ 5878 | hif 49117 [ 20%FE = 571|Zw3Y | 20k 5H17E [l
332|0% 20K 5A28 il J412]5& 20K % hE [492|72/555x] 20%iF iR §572[H7 20k i S
333[CLHASD 360 EI3mG iR J413]F-1F7DZ 46 2L 493U 20K RAE Pb73[v=—L5x]| 20k S
334|HE 667 EZRE =& 4141702 71 =1 494 €Y 20K RE |574|F% 20K i hE
335|=5 20K 48 J415|F=1F7 D | 20kKE B J495(Z=wSY | 20K fE [575/F-1TnC 32 ail
336[=1TD 20 =% [416lF=171C 27 b3 J496[F-17DC | 20K hZE |576|f-1F7D | 20kE =
¥7E A R E =i |4a7[boU |20k BARR|497[F-1F D[ 20%i% sA1A| hE |577|ho0 | 20K G
338|=1FD 54 =L [418[ho 20K i thifR J498[f=1F7DZ | 20k iE dE |578|7% 20K a=iL
339[f=5M3F | 20kKH hiER J419(=woY | 20K thiEh f499]/MiAE 20K 5 i [579[3vxAE5] 20k E hE
340|H7 20K =T 42072558z 20% 5 SRAE 50017 | 20%i& bR §580(H7 20k i o R
34| LBE 20K i i fa21][-1HDZ 46 =% [s501[boU” 20K 5 b §581|=+ B K48 ]| 20K i [ZaE/c)
342[E 0z AES | 20K % [422[-50%F A E5E =& [502[fzFD |20k EM [582|f=FT D 30 iR
343|VK 57 =M [423[7-6DF [ 20K 3 |503[7=IF D 28 ZH 583|f-F D | 20K 58 18| |2
344|hiV 20K i =T J424l-17n 2 | 20%% =T [s04[H0 20K 5l = [584| ¥ 20k &E thE
345|=17DZ | 20%kiH hZE 42517 D | 20k =T |505|f-1+D 39 fHARRL585 (- T D 56 AR
346(H U 20K i i [426]Hh oW 20K h48 [506|H7 20K 5 R4 1586 H K 21 R4
47T 24 il [427]F-oDF |20k =% [507|=17n 24 | =1 5877 [20%E chif
348[f=[F D 84 i [428[HoTr | 20K =% |508[=7n- R GERE| i 58817 D 35 GiES
349[hsV 20K i fE [429[hoV 20K thifl [509[-r0cmwo 51 bR §589]F-1H+DZ 54 ail
350[ U 20K i 538 | =& [430|5.F 20K il Is10[/-17DC [ 20k =% pwl=rnZ 20k AR
351[f=1TDZ | 20%kE =L |431[{f=17DZ | 20%iH =% [511|f=FDC [ 20KE fE 5911y 80 RE
352|[(F5NAE 20K =T [432[-1+D 66 thif 512[f=17DZ | 20K H 5138 =&F |592|FEhFE 20K =L
353|<E-H%E | 20K =T 433 bV 20K H 5EsH i 513[hor 20K EJ?EIS 593| 7% 20K =
354[EwoY | 20K FESH R ES fE [514hosr 20K i [594]20% 20K =
3s5-o0% IEEE 3R | FE [435)58 eSS i [515|RT L | 20k il |595| b |20k 5819 L
356|hioV 39 b (436D | 20k EE BRESE 20K 5 hiff [596[~rozwo | 20k E [ZaE/q)
357|=17DZ | 20%kiH i (4375 20K fE [517]=1+DC 24 =& |597|# L5011 20k b
358[f=1TDZ | 20%kH ZH/ |438[5& 20K H =i I518[f=17DZ [ 20K b ZE [598|holr 20K hE
359[f=-5M3F 55 hE [439]5F 20K H =T Isi9l=1rn 40 BT [599[F ¥Ry [ 20K =&
360|f=1+DZ 29 4R J440|f=1F7 D | 20kKiE =% [520|7=+ D | 20%KiE b2 [600|hor 20K AR
361[=w>5Y  [20%kiE hFE |11|hFE 20KE RE [B21[&1F 20k & i feot|-ITDZ 49 =&
362[-1TDZ | 20k th3E J442[ 5= 20K H hE 522l b 49 =% [Je02[>x 20K E=H
363 L S0 R 3ERE| o, [(RE 443|CCH 20 =& |53/ DT | 20%km ZHM |603|f=IFTDC 26 =L
364|1-5DF 74 FE [444|=05Y | 20K hE [524[=5 20K:5 =M/ Je04[>+ 20K =il
365| 7% ES ] thiff [445[-t0cwo 26 =% [525|CC# 29 3T |605[=1TDC 59 ail
366er.zay B ERE] RA J446[7-(HDC | 20K58 hif |526]F-1F D 20 a1 [606[¥=—L%x]| 20K& GiES
367[mFLonmam | 205k E RAE 447l =172 23 hZE [527[f=TDC 96 58148 |—— 607| ¥ 20K % h=E
368|f=1TDZ 87 21 J448l-5D3F 68 =% [528|vssmaLz| 20KE =T J608[F 20k i EES
369|hiV 20K i A= [449|zxFvozors| 20k RA |529[v=—L4x] 20k & &L |609|f=17D = [ 20%kE BT
370[25/+ | 20Kiwm ZMH [450[-1F D | 20K HARYS30[£EE | 20K ZH [610[h7 20K s5H200 T2
371[75E 20K fAR451[Ho” 44 thiff 531|445 | 20K fZE l611]FAHT 20k i hE
32| DF 110 RAE 452l 5 20KE =/ [532[/LYy [20%kiE i 1612[IF5hAZE| 20K hE
31 MDF 20K i hE [453|FEFERE | 20KH thE [533[J0vay—| 20%kE HIARRL613[5& 20K BT
314|Fo 5 | 20K 5858 [ riff J454|F-5D3F | 20K 5A98| i [534][5.F 20K ZH l614|Ho0 20K EiL
375[r—ssmz o] 20K hZE [455|holr 20K H RE 15351 37 EMH f615[KE-HE [ 20K AR
376|975E 20K hZE [456|f=17DZ | 20k = 536|9FK 20K = 616[F vy | 20K AR
37794 |20k hE [457|boT [ 20k hE I537|hol  [20%kE =% [617[#E | 870 EIZiad RE
378|75E 20K hE [458[ 5% 20K i FE [538[3xK 20K =% [618|=HDZ [ 20k AR
319U 20K ZM/ J459[1lLoF 20K E R EES 20K =% [619[L4X 20K i hE
380[H U 20K ZH [460[HhoU% 20K pE [540[-17DC [ 20k 58158 th=

3Bil=1TDZ [20%kiH ZM/ J461[HoV 20K = 541[=17DZ [ 20%E hE

382|f-LMF 29 R J462[(=5 20K FESH B ES hE

383[H=2= | 20K =& 4635V 20K RA |543|# L5805 =14] 20k 55 o 4ER

384|2CH 20K 5A6E = 464|=17DC | 20k ZH |544|r-rocwo| 20k P=an

385|=DFE 20K =Z 465|170 [ 20k 510 EM@ 5451702 | 20K hE

386[125 20K JRAE J466[a0z A5 20kH thif [546|f=17DZ | 20k E b 4ER

387|hVr 20K iR J467|f-1F7 D | 20KiE iR §547[nkreg 20K o 4ER

388l=1TD 32 il f468/HoUf e hE [548[0% 20K ;i RAE

389U 20K hZE [469]f-17DZ 21 ARRL549[ 2% 20K 5A168| ZH

390[boT | 20K hE J470lf- 13D [ 20K £ _|550[r1ocwo | 20K P

AQEER FER25F4A1H~

FER24FE48 18D G FILWEEEELGYEL -,

—MREMCRPHRGE) DEEE 100871 )L/kg
BARDY, 100X L L/ keZdBAT-IBEE, FTROKRTELYET,

% |iﬂ'l$ﬁ%|ﬁ‘*%
[OJoIOM (#:i5) REFREME tnlbi

fRad L

TBYFEEA




